// )r the following questions regarding circle T, identify the part in the diagram.
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For the following circles, find the missing measure or measures
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Using your knowledge of circles, solve for x. Assume segments appearing to be tangent to the circle are tangents.
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Solve for the indicated arc measure or angle.
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Solve for the indicated arc measure or angle
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Find the value of x in the figures below.

26. ' (2x =€ (x +lf_>

(Ax=dx +2 4
28. {QZ‘-‘ )‘(X'”g/)
[T = 3 §x
. X HExAIHY =0

Ex= 24
=i

FE=x+325>

o O=K]

‘9 Jx(21) = 25(x+5 )

Ydx =28+ ILho
.> )
d 27 )

/[ the= (0
x=10
S 4D

' #29= AAQX'I' 60]
AFx* %ZO:IEK {X:?» ]

29.



/. In Circle D, £ EDF = Z FDG. Find the indicated measures.
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31. What is the dégree measure of an a
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¢ of a circle with a radius of 4 cm and an arc length of 3 7 cm?
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Find the circumference. Leave answer in exact form.
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Find the indicated measure. ~— " —
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